Division word problems 

Once you have worked out what the question is asking you, write your answer in a number sentence e.g.   45 ÷ 9 = 5 
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1.  Sarah has 28 pencils. She shares them between her 4 friends. How many pencils will each of her friends get? 
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2. Ali has £1.50. He wants to buy rubbers for everyone coming to his party.  Each rubber cost 50p. How many rubbers will he be able to buy? 
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Coco the clown has 60 balloons which he needs to share between 15 children at the fair. How many balloons does each child get? 
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Sara has 24 packets of crisps. She must share these equally between her 4 friends. How many crisp packets will each friend get? 
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Mrs Jones buys 21 toy cars. She decides to share them between her 3 children, Jack, Adam and Sally. Can she do this? How many will each child get? 
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There are 55 books on the shelf. They need to be shared equally amongst 5 table groups in the class. How many books will there be on each table? Will there be any left over?
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Jasmin buys 48 ice lollies for her party. She has 6 carrier bags and needs to put an equal amount in each bag. Can she do this? 
